
Y4 – Autumn – Block 2 – Step 7 – Subtract two 4-digit numbers – more than one exchange Answers

Question Answer

1

a) 1,694
b) 1 hundred was exchanged for 10 tens, and one of the tens was then exchanged for 10 

ones.
c) 1,682
d) 802
e) 1,702 – 28 = 1,674

1,702 – 928 = 774

2

a) 210
b) 209
c) 199
All the numbers are subtracted from 564. In part a) no exchanges were made. In part b) one 
exchange was made. In part c) two exchanges were made.

3

a) 3,399
b) 3,400
c) 3,401
2,036 is subtracted from all the numbers. In part a) 2 exchanges were made. In parts b) and 
c) no exchanges were made.  
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Y4 – Autumn – Block 2 – Step 7 – Subtract two 4-digit numbers – more than one exchange Answers 
(continued)

Question Answer

6

a)

b)

7

multiple possible answers, e.g.:
a) 2,353 – 1,064
b) 7,640 – 2,351
c) 7,420 – 6,531
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